Exercise 4 (Subtraction)

Work out the answers to each of the following:

1) 68-43 2) 96-138 3) 32:7-14:2
4) 15-6-14-7 5) 26:9-124 6) 17-28-10-43
7) 56-48-125-29 8) 82:04-63-48 9) 92-16-25-31
10) 83:58-36-21 11) 25-83-15-4 12) 36:42-159
13) 83:29-16-3 14) 25-62-7-3 15) 34.26-1-8
16) 26-4-15-35 17) 12-4-5-62 18) 17-4-8-99
19) 346-2-11 20) 73-:2-16-78 21) 14-3-2
22) 83-56 23) 46-3-7 24) 36-8-08
25) 42-6-72 26) Take 19-2 from 76-8
27) From 0:67 subtract 0-38 28) Subtract 1-9 from 10-2
29) Evaluate 7-62-0-81
30) Whatis the difference between 17-93 and 13:27?
Exercise 5
1) Tanya has a 350 millilitre bottle of shampoo. She uses it to fill a 90

2)

3)

4)

millilitre travel bottle. How much is now left in the original bottle?

A curtain with drop length of 192 centimetres was needed for a
window. Lucy’s curtains are 148 centimetres. By how much are
they short?

Ewan and Scott have to put flyers through 470 letterboxes. On the
first evening they delivered 145. How many had they still to deliver?

Judy received her weekly pay of £540. She spent £68:43 in the
supermarket and £27-99 on a pair of shoes.
How much did she have left?
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